Batch nr:

PICB9014

1/5

VIPACK
]
FURNITURE

LV701-106/108

A 8x40 x52 4x25 X8
B 8x30 x12 3,5x40 X6
C M6x90 | x16 D15x18 | x16
D £ M6x10x13 | x16 GLUE x1
E - 7x34 x8 4Amm x1
F D15x12 | x8

8x40

x52




2/5

M6x90

O D15x18  x8 3 M6x10x13 | x8
A\

M6x90 X4

O D15x18 | x4 ) M6x10x13 | x4




M6x90 x4
M6x10x13 | x4

8x30 | x12

I
@]—W\\‘mmnwnmmW*”“ )

e

C
D

D15x18 x4

-

J

E DSy D15x12  x8




D15x12 | x8

)
>

F

4x25 | x8

(3




5/5

3,5x40 X6




	A: 
	G: 
	B: 
	H: 
	J: 
	D: 
	K: 
	GLUE: 
	x1: 
	L: 
	F: 
	A_2: 
	M6x90: 
	D15x18: 
	M6x10x13: 
	8x30: 
	D15x12: 
	F_2: 
	G_2: 
	H_2: 
	H_3: 
	Text1: Batch nr:


